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Warning. Conventions on this page change randomly from lineto | wer (0 1) = peo (1 0} . (Vo ,
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The Algebra. Uy, conventions: g = ¢ B H = {a,x)/([a,x] = tfp ({T 0)_ B — (e“‘ (_}ﬂ)_
ax) with 0 » O e
A=e " xA=gAx, S(a,A.x)=(-a,A"',-A"'x), The R-Matrix. Wllh[”]q = (q"=1)/(g=1),[n],! = [1lg-...-[n],
Aa, A, x) = (aj + ar, Ay As, x1 + Ajx2) and e = Y0 T Rg we have the mysterious Quesne tormula
and dual H* = (b, y)/([b, y] = —py) with of arXiv:math-ph/0305003: e; = e'exp (Epa '1& Then

= g hab pp— . N—(—p Rl _up-l k(1
B=e", By=qyB, S(b,B,y)=(-bB",-yB), Ry = O(yb@ ax: M), A %ijqf
A(b, B,y) = (b + b2, B\ B2,y By + ¥2). J’Lw |5 - Co mser ) nc»-/ﬂ
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Paiﬁng by (“‘ x}* = ﬁ(b,\) making (}Jb"r, (Jj.\j) = Ya g“"ap%
Sijopillkl,!. Then U = H*P @ H with (¢f)wg) =
(&15’"1f3)(1ﬁ1 f)(@W2)(f2g). With the central ¢ = fa — ab, 9 SWaps.
T :=eM = A1 B get xy Swaps.
[a,y] = —ay, xy—qyx=(1-TA%)/h. The Drinfel’d Element.
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Putting Everything Together.
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